EKCILUITKAISA

npuMilieHb 10 NJIaHy noBepxiB rpoMaJcbKoro Oy AMHKY
a Punok, 38, mitep "A-2"

Jlonatok 6.3

10 Inctpykuii mpo nopsaok
NpoBeeHHA TEXHIYHOT inBeHTapu3aLil
00'eKTiB HEPYXOMOrO MaiiHa

JIbBiB
:m; % [Tno1a npUMilleHb 3 %
g %A _ (kB.M) % = ] %
: 2EE| = 5 2|22
& 2| =
el [pu3HaueHHs S s o:_ < E = § § % | E
=l & : g S g = S Z = g Bl E o| 2
=1 2 NpUMILLEHb o 2 s z = ML °|Z 3 = &
2| £ "zl B 2| & | E|eE|E%E T
<| | E SEE S| 8| 8| 5|5 T|EEE
: 5l &l & TE % 3 s |3 |8 &
8 2| g| ¢ S 28 5 2 | 8
£ el ©| © 5 .= 2 = = =
==l S E 8 8 =
1 2 3 4 5 6 7 8 9 10 11 12 13
\-2 | Ix. I |cxonoBa kiiTka 9,0 9,0 9,0
II |migsan 28,7 287 | 287
Il |migBan 27,1 21,1 27,1
IV [kxopunop 4,7 4,7 4,7
V |kmazosa 6.4 6.4 6.4
VI |migsan 49,0 49,0 49,0
VII {kopuaop 6,1 b1 6,1
VIII |knapoBa T2 7,2 72
IX |knamoBa 0,8 0,8 0.8
X |migsan 41,9 419 | 419
XI |kopumop 6,7 6,7 6,7
XII [npuMilueHHs 7,8 7,8 7,8
XIII [kopunop 3,3 3,3 S50
XIV |xopuaop 3.3 5D 5.5
XV |ryaneT 2,8 2.8 2,8
- XVI |tyaner 2,8 2,8 2,8
B Bcboro 1o miaBay : 209,8 | 209,8 | 146,7 | 63,1
1 3 1 |ropriBesibHE 52,2 52.2 52,2 \
2 |ropriBenbHe 11,1 11,1 | 11,1 :
3 |ropriBenbHe 56,1 56,1 56,1
4 |kopuaop 7.2 H 1.2
5 |npumilleHHS 37,4 37,4 37.4
5 |xopumop 10,4 10,4 10,4
6 |npuMIiLLEHHS 13,9 13,9 13,9
7 |npumilLeHHS 8,7 8,7 8,7
8 |koTeNbHA 10,0 10,0 10,0
Bceworo no I moBepxy: 207,0 | 207,0 | 1194 87,6
m|3 9 |cxomosa KiiTKa 11,0 11,0 11,0
10 |kabiHer 33,6 33,6 33,6
11 |kopunop 72 92 1.2
12 |xopuaop 20 2,7 2.7




